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(1) A word is represented by only one set of numbers as given in 

any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its column.'O' can be 

represented by 30, 23,etc. and 'D' can be represented by 

76,88,etc. identify the set for the word 'POND'. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है। आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है 

और आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से 

एक अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'O' कप 30, 23, आकद द्वारा दशााया जा सकता 

है। 'D' कप 76, 88, आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप 

प्रश् ि में कदए गए शब् द  'POND' के कलए समूह कप पहचाििा है। 

 
  

SSCCGL201708AUG-S3 : 25 

(a) 00, 04, 67, 57  (b) 23, 12, 86, 69 

(c) 43, 24, 98, 95  (d) 30, 42, 55, 87 

 

(2) A word is represented by only one set of numbers as given in 

any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its column.'P' can be 

represented by 32, 44, etc. and 'U' can be represented by 76, 88, 

etc. identify the set for the word 'PALE'. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है। आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है 

और आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से 

एक अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'P' कप 32, 44, आकद द्वारा दशााया जा सकता है। 

'U' कप 76, 88, आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप प्रश् ि 

में कदए गए शब् द  'PALE' के कलए समूह कप पहचाििा है। 

 
SSCCGL201710AUG-S1 : 25 

(a) 43, 23, 55, 56  (b) 33, 30, 67, 75 

(c) 11, 42, 86, 98  (d) 20, 04, 79, 87 

 

(3) A word is represented by only one set of numbers as given in 
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any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its column.'O' can be 

represented by 34, 41,etc. and 'T' can be represented by 

59,97,etc. identify the set for the word ' STRAW '. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है। आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है 

और आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से 

एक अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'H' कप 34, 41, आकद द्वारा दशााया जा सकता 

है। 'T' कप 59, 97, आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप 

प्रश् ि में कदए गए शब् द  'STRAW' के कलए समूह कप पहचाििा है। 

             

 
SSCCGL201708AUG-S2 : 25 

(a)  00, 78, 13, 67, 23  (b)  12, 59, 01, 55, 10 

(c)  24, 97, 20, 86, 31  (d)  43, 66, 44, 98, 43 

 

(4) A word is represented by only one set of numbers as given in 

any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its column.'F' can be 

represented by 03, 34, etc. and 'A' can be represented by 

31,43,etc. identify the set for the word 'RATES'. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है। आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है और 

आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से एक 

अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'F' कप 03,34, आकद द्वारा दशााया जा सकता है। 

'A' कप 31,43, आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप प्रश् ि में 

कदए गए शब् द  'RATES' के कलए समूह कप पहचाििा है। 

 

SSCCGL201711AUG-S3 : 25 

(a)  33, 00, 98, 30, 88  (b)  14, 43, 55, 11, 68 

(c)  21, 24, 86, 42, 56  (d)  02, 12, 67, 04, 96 

 

(5)  In the question a word is represented by only one set of 

numbers as given in any of the alternatives. The set of numbers 

given in the alternatives are represented by two class of 

alphabets as in two matrices given below. The columns and row 

of Marix I are numbered from 0 to 4 and that of Matrix II are 

numbered from 5 to 9. A letter from this matrices can be 

represented first by its Row and next by its column. For example 

’k’ can be written as 40,24 etc and ‘Z’ can be represented as 

98,67 etc. You have to identify the set for ‘OXEN’. 

प्रश्न में, एक शब्द संख्याओ ंका केवल एक समूह द्वारा प्रकतकिकित्व ककया जा 

सकता है जैसा कक ककसी भी कवकल् में कदया गया है. कवकल्प ंमें कदए गए 

संख्याओ ंका सेट दप वगों के वणों के रूप में प्रसु्तत ककया गया है, जैसा कक 

िीचे कदया गया दप मैकटि क्स है। Matrix I के कॉलम और पंक्ति कप 0 से 4 तक 

कगिे और Matrix II की संख्या 5 से 9 तक कगिे जा रही है. इस मैकटि क्स का 

एक अक्षर पहले इसकी पंक्ति द्वारा और उसके कॉलम के आगे प्रसु्तत ककया 

जा सकता ह. उदाहरण के कलए ‘ K ‘ कप 40 ,24 आकद के रूप में कलखा जा 

सकता है और ‘Z’ कप 98,67 आकद के रूप में प्रसु्तत ककया जा सकता है. 

आपकप ‘OXEN’ के कलए सेट की पहचाि करिा है. 

 
SSCCGL201721AUG-S3 : 25 

(a) 65,97,42,99  (b)  21,33,58,67 

(c)  44,44,55,58  (d)  14,34,55,66 

 

(6) A word is represented by only one set of numbers as given in 

any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its column.'K' can be 

represented by 14, 03, etc. and 'Z' can be represented by 

58,69,etc. identify the set for the word ' FUEL '. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है। आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है 

और आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से 

एक अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'K' कप 14, 03, आकद द्वारा दशााया जा सकता है। 

'Z' कप 58, 69, आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप प्रश् ि 

में कदए गए शब् द  'FUEL' के कलए समूह कप पहचाििा है। 
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SSCCGL201722AUG-S2 : 25 

(a)  21,55,22,02  (b)  56,12,87,22 

(c)  23,45,12,22  (d)  11,02,32,65 

 

(7) 

 
SSCCGL201705AUG-S3 : 25 

(a)  23, 76, 22, 77  (b)  11, 67, 40, 95 

(c)  00, 55, 03, 59  (d)  44, 89, 30, 87 

  

(8) A word is represented by only one set of numbers as given in 

any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its columns ’A' can be 

represented by 20, 43,etc. and 'U' can be represented by 

68,87,etc. identify the set for the word ' GUIDE '. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है। आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है 

और आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से 

एक अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'A' कप 20, 43, आकद द्वारा दशााया जा सकता 

है। 'U' कप 68, 87, आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप 

प्रश् ि में कदए गए शब् द  'GUIDE' के कलए समूह कप पहचाििा है। 

 

SSCCGL201710AUG-S2 : 25 

(a)  00, 68, 95, 58, 04 (b)  14, 75, 88, 87, 40 

(c)  23, 99, 76, 78, 31 (d)  41, 87, 57, 66, 12 

 

(9) A word is represented by only one set of numbers as given in 

any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its columns ’K' can be 

represented by 33, 43,etc. and 'Z' can be represented by 

65,59,etc. identify the set for the word ' SIZE'. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है। आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है 

और आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से 

एक अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'K' कप 33, 43, आकद द्वारा दशााया जा सकता 

है। 'Z' कप 65, 59, आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप 

प्रश् ि में कदए गए शब् द  'SIZE' के कलए समूह कप पहचाििा है। 

 
SSCCGL201717AUG-S1 : 25 

(a)  34,32,98,77  (b)  42,00,99,77 

(c)  03,44,67,77  (d)  95,24,59,20 

  

(10) A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its columns ’K' can be 

represented by 10, 31,etc. and 'M' can be represented 

by 76,87,etc. Similarly, you have to identify the set for the word 

‘’SCAM’’. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है।आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है 

और आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से 

एक अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'K' कप 10, 31, आकद द्वारा दशााया जा सकता 

है। 'M' कप 76, 87, आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप 

प्रश् ि में कदए गए शब् द  'SCAM' के कलए समूह कप पहचाििा है। 

 

http://www.onlinesetpractice.com/
http://www.onlinesetpractice.com/
http://www.onlinesetpractice.com/
http://www.onlinesetpractice.com/
http://www.onlinesetpractice.com/


SSC CGL 2017: Reasoning (Matrix Grid) 

www.onlinesetpractice.com   Page 4 of 13 
 

SSCCGL201709AUG-S1 : 25 

(a) 00, 13, 57, 76  (b) 11, 04, 86, 59 

(c) 23, 22, 99, 95  (d) 32, 40, 66, 68  

 

(11) A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its column. 'X' can be 

represented by 21,44 etc. and 'R' can be represented by 67,98 

etc. identify the set for the word 'CREEP'. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है। आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है और 

आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से एक 

अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'X' कप 21,44, आकद द्वारा दशााया जा सकता है। 

'R' कप 67,98 आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप प्रश् ि में 

कदए गए शब् द  ‘CREEP' के कलए समूह कप पहचाििा है। 

 
SSCCGL201709AUG-S2 : 25 

(a) 10, 79, 23, 32, 42  (b) 24, 55, 14, 41, 12 

(c) 33, 86, 32, 13, 43  (d) 42, 98, 41, 00, 34 

 

(12) A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its columns ’P' can be 

represented by 02, 10,etc. and 'G' can be represented 

by 66,98,etc. Similarly, you have to identify the set for the word 

‘’TRAIL’’. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है।आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है 

और आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से 

एक अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'P' कप 02, 10, आकद द्वारा दशााया जा सकता 

है। 'G' कप 66, 98, आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप 

प्रश् ि में कदए गए शब् द  'TRAIL' के कलए समूह कप पहचाििा है। 

 

SSCCGL201711AUG-S1 : 25 

(a) 01, 03, 75, 00, 68  (b) 14, 30, 68, 13, 58 

(c) 20, 44, 99, 21, 96  (d) 43, 11, 56, 34, 88  

 

(13) A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its columns ’L' can be 

represented by 22,43 etc. and 'K' can be represented by 

75,97,etc. Similarly, you have to identify the set for the word 

‘’PACK’’. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है। आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है और 

आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से एक 

अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'L' कप 22,43, आकद द्वारा दशााया जा सकता है। 

'K' कप 75,97 आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप प्रश् ि में 

कदए गए शब् द  'PACK' के कलए समूह कप पहचाििा है। 

 
SSCCGL201712AUG-S1 : 25 

(a) 69, 02, 12, 65  (b) 58, 23, 24, 76 

(c) 77, 31, 34, 68  (d) 96, 44, 41, 97  

 

(14) A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its columns ’R' can be 

represented by 23,31, etc. and 'O' can be represented by 75,98, 

etc. Similarly, you have to identify the set for the word ‘’TRAY’’. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है। आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है और 

आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से एक 

अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'R' कप 23,31, आकद द्वारा दशााया जा सकता है। 

'O' कप 75,98, आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप प्रश् ि में 

कदए गए शब् द  'TRAY' के कलए समूह कप पहचाििा है। 
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SSCCGL201712AUG-S2 : 25 

(a) 00, 04, 68, 02  (b) 21, 41, 97, 41 

(c) 34, 12, 55, 11  (d) 42, 23, 89, 23  

 

(15) A word is represented by only one set of numbers as given 

in any one of the alternatives. The set of numbers given in the 

alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The columns and rows of 

Matrix-I are numbered from 0 to 4 and that of Matrix-II are 

numbered from 5 to 9. A letter of these matrices can be 

represented first by its row and second by its column. For 

example-S can be represented by 21,43 etc. And O can be 

represented by 65,88 etc. Similarly, you have to identify the set 

for the word “SPEAK”. 

एक शव्द केवल एक संख्या समूह द्वारा दशााया गया है ,जैसा की कवकल्प ंमें से 

ककसी एक में कदया गया है कवकल्प ंमें कदए गए संख्या समूह अक्षरप ं के दप वगों 

द्वारा दशााये गए है, जैसा की िीचे कदए गए दप  आवू्यह में है| आवू्यह I के स्तम्भ 

और पंक्ति की संख्या 0 से 4 में दी गयी है और आवू्यह II की 5 से 9 में दी गयी 

हैI इि आवू्यह से एक अक्षर कप पहले उसकी पंक्ति और बाद में स्तम्भ संख्या 

द्वारा दशााया जा सकता है उदाहरण के कलए S कप 21,43 द्वारा दशााया जा 

सकता है O कप 65,88  द्वारा दशााया जा सकता है इसी तरह से आपकप प्रश्न में 

कदए   शव्द “SPEAK” के  कलए समूह  कप  पहचाििा  है I        

 
SSCCGL201710AUG-S3 : 25 

(a) 10, 12, 11, 66, 58  (b) 43, 31, 33, 89, 86 

(c) 21, 40, 44, 56, 99  (d) 32, 03, 20, 97, 66 

 

(16) A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its column.'E' can be 

represented by 23, 41 etc. and 'P' can be represented by 

56,97,etc. identify the set for the word 'GREAT'. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है। आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है और 

आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से एक 

अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'E' कप 23,41, आकद द्वारा दशााया जा सकता है। 

'P' कप 56, 97, आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप प्रश् ि में 

कदए गए शब् द  'GREAT' के कलए समूह कप पहचाििा है। 

 
SSCCGL201712AUG-S3 : 25 

(a) 10, 14, 00, 59, 97`  (b) 31, 33, 41, 67, 76 

(c) 43, 01, 23, 95, 89  (d) 24, 42, 11, 86, 95 

 

(17) A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its columns ’P' can be 

represented by 12, 43,etc. and 'O' can be represented 

by 67, 88 etc. Similarly, you have to identify the set for the word 

‘’STROM’’. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है।आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है 

और आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से 

एक अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'P' कप 12, 43, आकद द्वारा दशााया जा सकता 

है। 'O' कप 67, 88 आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप 

प्रश् ि में कदए गए शब् द  ‘’STROM’’ के कलए समूह कप पहचाििा है। 

 
SSCCGL201711AUG-S2 : 25 

(a) 10, 04, 33, 57, 69  (b) 41, 42, 14, 68, 86 

(c) 34, 23, 40, 88, 78  (d) 22, 11, 21, 75, 96  

 

(18) A word is represented by only one set of numbers as given 

in any one of the alternatives. The set of numbers given in the 

alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The columns and rows of 

Matrix-I are numbered from 0 to 4 and that of Matrix-II are 

numbered from 5 to 9. A letter of these matrices can be 

represented first by its row and second by its column. For 

example-K can be represented by 42,34 etc. And Z can be 

represented by 96,79 etc. Similarly, you have to identify the set 

for the word “ROAD”. 

एक शव्द केवल एक संख्या समूह द्वारा दशााया गया है ,जैसा की कवकल्प ंमें से 

ककसी एक में कदया गया है कवकल्प ंमें कदए गए संख्या समूह अक्षरप ं के दप वगों 

द्वारा दशााये गए है, जैसा की िीचे कदए गए दप  आवू्यह में है| आवू्यह I के स्तम्भ 

और पंक्ति की संख्या 0 से 4 में दी गयी है और आवू्यह II की 5 से 9 में दी गयी 

हैI इि आवू्यह से एक अक्षर कप पहले उसकी पंक्ति और बाद में स्तम्भ संख्या 

द्वारा दशााया जा सकता है उदाहरण के कलए K कप 42,34 द्वारा दशााया जा 
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सकता है Z कप 96,79  द्वारा दशााया जा सकता है इसी तरह से आपकप प्रश्न में 

कदए   शव्द “ROAD” के  कलए समूह  कप  पहचाििा  है I 

 
SSCCGL201717AUG-S2 : 25 

(a) 24,14,67,76  (b) 30,22,86,56 

(c) 66,67,02,14  (d) 13,43,56,86 

 

(19) A word is represented by only one set of numbers as given 

in any one of the alternatives. The set of numbers given in the 

alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The columns and rows of 

Matrix-I are numbered from 0 to 4 and that of Matrix-II are 

numbered from 5 to 9. A letter of these matrices can be 

represented first by its row and second by its column. For 

example-Q can be represented by 10,34 etc. And B can be 

represented by 86,79 etc. Similarly, you have to identify the set 

for the word “STAR”. 

एक शव्द केवल एक संख्या समूह द्वारा दशााया गया है ,जैसा की कवकल्प ंमें से 

ककसी एक में कदया गया है कवकल्प ंमें कदए गए संख्या समूह अक्षरप ं के दप वगों 

द्वारा दशााये गए है, जैसा की िीचे कदए गए दप  आवू्यह में है| आवू्यह I के स्तम्भ 

और पंक्ति की संख्या 0 से 4 में दी गयी है और आवू्यह II की 5 से 9 में दी गयी 

हैI इि आवू्यह से एक अक्षर कप पहले उसकी पंक्ति और बाद में स्तम्भ संख्या 

द्वारा दशााया जा सकता है उदाहरण के कलए Q कप 10,34 द्वारा दशााया जा 

सकता है B कप 86,79  द्वारा दशााया जा सकता है इसी तरह से आपकप प्रश्न में 

कदए   शव्द “STAR” के  कलए समूह  कप  पहचाििा  है I 

 
SSCCGL201709AUG-S3 : 25 

(a) 42, 03, 89, 13  (b) 11, 40, 65, 02 

(c) 04, 32, 96, 32  (d) 42,02,77,01 

 
 

(20)  A word is represented by only one set of numbers as given 

in any one of the alternatives. The set of numbers given in the 

alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The columns and rows of 

Matrix-I are numbered from 0 to 4 and that of Matrix-II are 

numbered from 5 to 9. A letter of these matrices can be 

represented first by its row and second by its column. For 

example-P can be represented by 11,23 etc. And K can be 

represented by 65,89 etc. Similarly, you have to identify the set 

for the word “TAKE”. 

एक शव्द केवल एक संख्या समूह द्वारा दशााया गया है ,जैसा की कवकल्प ंमें से 

ककसी एक में कदया गया है कवकल्प ंमें कदए गए संख्या समूह अक्षरप ंके दप वगों 

द्वारा दशााये गए है, जैसा की िीचे कदए गए दप आवू्यह में है| आवू्यह I के स्तम्भ 

और पंक्ति की संख्या 0 से 4 में दी गयी है और आवू्यह II की 5 से 9 में दी गयी 

हैI इि आवू्यह से एक अक्षर कप पहले उसकी पंक्ति और बाद में स्तम्भ संख्या 

द्वारा दशााया जा सकता है उदाहरण के कलए P कप 11,23 द्वारा दशााया जा 

सकता है K कप 65,89 द्वारा दशााया जा सकता है इसी तरह से आपकप प्रश्न में 

कदए शव्द “TAKE” के कलए समूह कप पहचाििा है I 

 
SSCCGL201716AUG-S3 : 25 

(a) 10,32,66,56  (b) 41,00,89,75 

(c) 03,4378,99  (d) 22,13,97,87 

 

(21)  A word is represented by only one set of numbers as given 

in any one of the alternatives. The set of numbers given in the 

alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The columns and rows of 

Matrix-I are numbered from 0 to 4 and that of Matrix-II are 

numbered from 5 to 9. A letter of these matrices can be 

represented first by its row and second by its column. For 

example-K can be represented by 20,34 etc. And Z can be 

represented by 67,88 etc. Similarly, you have to identify the set 

for the word “PURE”. 

एक शव्द केवल एक संख्या समूह द्वारा दशााया गया है ,जैसा की कवकल्प ंमें से 

ककसी एक में कदया गया है कवकल्प ंमें कदए गए संख्या समूह अक्षरप ंके दप वगों 

द्वारा दशााये गए है, जैसा की िीचे कदए गए दप आवू्यह में है| आवू्यह I के स्तम्भ 

और पंक्ति की संख्या 0 से 4 में दी गयी है और आवू्यह II की 5 से 9 में दी गयी 

हैI इि आवू्यह से एक अक्षर कप पहले उसकी पंक्ति और बाद में स्तम्भ संख्या 

द्वारा दशााया जा सकता है उदाहरण के कलए K कप 20,34 द्वारा दशााया जा 

सकता है Z कप 67,88 द्वारा दशााया जा सकता है इसी तरह से आपकप प्रश्न में 

कदए शव्द “PURE” के कलए समूह कप पहचाििा है I 

 
SSCCGL201717AUG-S3 : 25 

(a) 89,96,86,13  (b) 34,34,56,79 

(c) 41,44,67,96  (d) 01,10,79,57 

 

(22)  A word is represented by only one set of numbers as given 

in any one of the alternatives. The set of numbers given in the 

alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The columns and rows of 

Matrix-I are numbered from 0 to 4 and that of Matrix-II are 

numbered from 5 to 9. A letter of these matrices can be 
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represented first by its row and second by its column. For 

example ‘K’ can be represented by 42, 34 etc. And ‘Z’ can be 

represented by 75, 86 etc. Similarly, you have to identify the set 

for the word “RUBY”. 

एक शव्द केवल एक संख्या समूह द्वारा दशााया गया है ,जैसा की कवकल्प ंमें से 

ककसी एक में कदया गया है कवकल्प ंमें कदए गए संख्या समूह अक्षरप ंके दप वगों 

द्वारा दशााये गए है, जैसा की िीचे कदए गए दप आवू्यह में है| आवू्यह I के स्तम्भ 

और पंक्ति की संख्या 0 से 4 में दी गयी है और आवू्यह II की 5 से 9 में दी गयी 

हैI इि आवू्यह से एक अक्षर कप पहले उसकी पंक्ति और बाद में स्तम्भ संख्या 

द्वारा दशााया जा सकता है उदाहरण के कलए K कप 42, 34 द्वारा दशााया जा 

सकता है Z कप 75,86 द्वारा दशााया जा सकता है इसी तरह से आपकप प्रश्न में 

कदए शव्द “RUBY” के कलए समूह कप पहचाििा है I 

 
SSCCGL201718AUG-S2 : 25 

(a) 42,31,76,68  (b) 00,20,57,88 

(c) 30,12,66,67  (d) 67,56,40,88 

 

(23) A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its column.'K' can be 

represented by 42, 34,etc. and 'Z' can be represented by 87, 

78,etc. identify the set for the word 'REAL'. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख्या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है। आवू्यह -I के स्तम्भ  एवं पंक्ति की संख्या 0 से 4 तक दी गई है और 

आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से एक 

अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'K' कप 42, 34, आकद द्वारा दशााया जा सकता है। 

'Z' कप 87, 78, आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप प्रश्न में 

कदए  शब्द  'REAL' के कलए समूह कप पहचाििा है। 

 
SSCCGL201718AUG-S3 : 25 

(a) 21,10,85,96  (b) 85,10,31,04 

(c) 14,02,58,88  (d) 20,20,77,56 

 

(24)  A word is represented by only one set of numbers as given 

in any one of the alternatives. The set of numbers given in the 

alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The columns and rows of 

Matrix-I are numbered from 0 to 4 and that of Matrix-II are 

numbered from 5 to 9. A letter of these matrices can be 

represented first by its row and second by its column. For 

example ‘K’ can be represented by 20,32 etc. And ‘Z’ can be 

represented by 75, 78 etc. Similarly, you have to identify the set 

for the word “SHOW”. 

एक शव्द केवल एक संख्या समूह द्वारा दशााया गया है ,जैसा की कवकल्प ंमें से 

ककसी एक में कदया गया है कवकल्प ंमें कदए गए संख्या समूह अक्षरप ंके दप वगों 

द्वारा दशााये गए है, जैसा की िीचे कदए गए दप आवू्यह में है| आवू्यह I के स्तम्भ 

और पंक्ति की संख्या 0 से 4 में दी गयी है और आवू्यह II की 5 से 9 में दी गयी 

हैI इि आवू्यह से एक अक्षर कप पहले उसकी पंक्ति और बाद में स्तम्भ संख्या 

द्वारा दशााया जा सकता है उदाहरण के कलए K कप 20,32 द्वारा दशााया जा 

सकता है Z कप 75,78 द्वारा दशााया जा सकता है इसी तरह से आपकप प्रश्न में 

कदए शव्द “SHOW” के कलए समूह कप पहचाििा है I 

 
SSCCGL201718AUG-S1 : 25 

(a) 21,23,78,98  (b) 76,12,87,97 

(c) 40,32,76,79  (d) 33,23,57,88 

 

(25) A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its column.'K' can be 

represented by 42, 34,etc. and 'Z' can be represented by 76, 

59,etc. identify the set for the word ' SELF '. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है। आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है 

और आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से 

एक अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'K' कप 42, 34, आकद द्वारा दशााया जा सकता है। 

'Z' कप 76, 59, आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप प्रश् ि 

में कदए गए शब् द  'SELF' के कलए समूह कप पहचाििा है। 

 
SSCCGL201719AUG-S1 : 25 

(a) 95,23,24,41  (b) 44,43,87,95 

(c) 04,31,85,58  (d) 24,04,66,77 

 

(26) A word is represented by only one set of numbers as given 

in any one of the alternatives. The set of numbers given in the 

alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The columns and rows of 

Matrix-I are numbered from 0 to 4 and that of Matrix-II are 

numbered from 5 to 9. A letter of these matrices can be 

represented first by its row and second by its column. For 

example-Z can be represented by 87,99 etc. And T can be 

represented by 69,95 etc. Similarly, you have to identify the set 

for the word “MAZE”. 
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एक शव्द केवल एक संख्या समूह द्वारा दशााया गया है ,जैसा की कवकल्प ंमें से 

ककसी एक में कदया गया है कवकल्प ंमें कदए गए संख्या समूह अक्षरप ं के दप वगों 

द्वारा दशााये गए है, जैसा की िीचे कदए गए दप  आवू्यह में है| आवू्यह I के स्तम्भ 

और पंक्ति की संख्या 0 से 4 में दी गयी है और आवू्यह II की 5 से 9 में दी गयी 

हैI इि आवू्यह से एक अक्षर कप पहले उसकी पंक्ति और बाद में स्तम्भ संख्या 

द्वारा दशााया जा सकता है उदाहरण के कलए Z कप 87,99 द्वारा दशााया जा 

सकता है T कप 69,95  द्वारा दशााया जा सकता है इसी तरह से आपकप प्रश्न में 

कदए   शव्द “MAZE” के  कलए समूह  कप  पहचाििा  है | 

 
SSCCGL201716AUG-S1 : 25 

(a) 00, 41, 99, 96  (b) 12, 04, 56, 58 

(c) 24, 22, 88, 65  (d) 43, 10, 69, 77 

 

(27) A word is represented by only one set of numbers as given 

in any one of the alternatives. The set of numbers given in the 

alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The columns and rows of 

Matrix-I are numbered from 0 to 4 and that of Matrix-II are 

numbered from 5 to 9. A letter of these matrices can be 

represented first by its row and second by its column. For 

example-E can be represented by 21,44 etc. And T can be 

represented by 65,87 etc. Similarly, you have to identify the set 

for the word “FATE”. 

एक शव्द केवल एक संख्या समूह द्वारा दशााया गया है ,जैसा की कवकल्प ंमें से 

ककसी एक में कदया गया है कवकल्प ंमें कदए गए संख्या समूह अक्षरप ं के दप वगों 

द्वारा दशााये गए है, जैसा की िीचे कदए गए दप  आवू्यह में है| आवू्यह I के स्तम्भ 

और पंक्ति की संख्या 0 से 4 में दी गयी है और आवू्यह II की 5 से 9 में दी गयी 

हैI इि आवू्यह से एक अक्षर कप पहले उसकी पंक्ति और बाद में स्तम्भ संख्या 

द्वारा दशााया जा सकता है उदाहरण के कलए E कप 21,44 द्वारा दशााया जा 

सकता है T कप 65,87  द्वारा दशााया जा सकता है इसी तरह से आपकप प्रश्न में 

कदए   शव्द “FATE” के  कलए समूह  कप  पहचाििा  है I 

 
SSCCGL201716AUG-S2 : 25 

(a) 56, 00, 87, 11  (b) 96, 41, 59, 44 

(c) 88, 12, 76, 33  (d) 78, 34, 98, 21 

 

(28) A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its column.'K' can be 

represented by 42, 34,etc. and 'Z' can be represented by 97, 69, 

etc. identify the set for the word ' ROPE '. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है। आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है 

और आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से 

एक अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'K' कप 42, 34, आकद द्वारा दशााया जा सकता है। 

'Z' कप 97, 69, आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप प्रश् ि 

में कदए गए शब् द  'ROPE' के कलए समूह कप पहचाििा है। 

 
SSCCGL201719AUG-S2 : 25 

(a) 10,24,56,69  (b) 03,02,58,79 

(c) 85,89,88,20  (d) 04,32,97,65 

 

(29) A word is represented by only one set of numbers as given 

in any one of the alternatives. The set of numbers given in the 

alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The columns and rows of 

Matrix-I are numbered from 0 to 4 and that of Matrix-II are 

numbered from 5 to 9. A letter of these matrices can be 

represented first by its row and second by its column. For 

example ‘K’ can be represented by 42, 34 etc. And ‘Z’ can be 

represented by 76, 88 etc. Similarly, you have to identify the set 

for the word “RIDE”. 

एक शव्द केवल एक संख्या समूह द्वारा दशााया गया है ,जैसा की कवकल्प ंमें से 

ककसी एक में कदया गया है कवकल्प ंमें कदए गए संख्या समूह अक्षरप ं के दप वगों 

द्वारा दशााये गए है, जैसा की िीचे कदए गए दप  आवू्यह में है| आवू्यह I के स्तम्भ 

और पंक्ति की संख्या 0 से 4 में दी गयी है और आवू्यह II की 5 से 9 में दी गयी 

हैI इि आवू्यह से एक अक्षर कप पहले उसकी पंक्ति और बाद में स्तम्भ संख्या 

द्वारा दशााया जा सकता है उदाहरण के कलए K कप 42, 34 द्वारा दशााया जा 

सकता है Z कप 76,88  द्वारा दशााया जा सकता है इसी तरह से आपकप प्रश्न 

में कदए   शव्द “RIDE” के  कलए समूह  कप  पहचाििा  है I 

 
SSCCGL201719AUG-S3 : 25 

(a) 30,23,85,66  (b) 89,30,10,13 

(c) 10,24,68,78  (d) 10,11,88,86 
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(30) A word is represented by only one set of numbers as given 

in any one of the alternatives. The set of numbers given in the 

alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The columns and rows of 

Matrix-I are numbered from 0 to 4 and that of Matrix-II are 

numbered from 5 to 9. A letter of these matrices can be 

represented first by its row and second by its column. For 

example ‘K’ can be represented by 13,34 etc. And ‘Z’ can be 

represented by 85,79 etc. Similarly, you have to identify the set 

for the word “PLOT”. 

एक शव्द केवल एक संख्या समूह द्वारा दशााया गया है ,जैसा की कवकल्प ंमें से 

ककसी एक में कदया गया है कवकल्प ंमें कदए गए संख्या समूह अक्षरप ंके दप वगों 

द्वारा दशााये गए है, जैसा की िीचे कदए गए दप आवू्यह में है| आवू्यह I के स्तम्भ 

और पंक्ति की संख्या 0 से 4 में दी गयी है और आवू्यह II की 5 से 9 में दी गयी 

हैI इि आवू्यह से एक अक्षर कप पहले उसकी पंक्ति और बाद में स्तम्भ संख्या 

द्वारा दशााया जा सकता है उदाहरण के कलए K कप 13, 34 द्वारा दशााया जा 

सकता है Z कप 85,79 द्वारा दशााया जा सकता है इसी तरह से आपकप प्रश्न में 

कदए शव्द “PLOT” के कलए समूह कप पहचाििा है I 

 
SSCCGL201720AUG-S1 : 25 

(a) 58,14,57,87  (b) 44,04,76,86 

(c) 03,23,86,69  (d) 23,04,99,99 

 

(31) A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its columns ’Y' can be 

represented by 55,87, etc. and 'Z' can be represented by 14,01, 

etc. Similarly, you have to identify the set for the word ‘’VERY’’. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है।आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है 

और आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से 

एक अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'Y' कप 55,87, आकद द्वारा दशााया जा सकता है। 

'Z' कप 14,01, आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप प्रश् ि में 

कदए गए शब् द  'VERY' के कलए समूह कप पहचाििा है। 

 
SSCCGL201721AUG-S1 : 25 

(a) 01,43,21,78  (b) 31,24,11,87 

(c) 11,20,66,85  (d) 88,56,43,20 

 

(32) A word is represented by only one set of numbers as given 

in any one of the alternatives. The set of numbers given in the 

alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The columns and rows of 

Matrix-I are numbered from 0 to 4 and that of Matrix-II are 

numbered from 5 to 9. A letter of these matrices can be 

represented first by its row and second by its column. For 

example ‘K’ can be represented by 41,34 etc. And ‘Z’ can be 

represented by 75, 86 etc. Similarly, you have to identify the set 

for the word “PAWN”. 

एक शव्द केवल एक संख्या समूह द्वारा दशााया गया है ,जैसा की कवकल्प ंमें से 

ककसी एक में कदया गया है कवकल्प ंमें कदए गए संख्या समूह अक्षरप ं के दप वगों 

द्वारा दशााये गए है, जैसा की िीचे कदए गए दप  आवू्यह में है| आवू्यह I के स्तम्भ 

और पंक्ति की संख्या 0 से 4 में दी गयी है और आवू्यह II की 5 से 9 में दी गयी 

हैI इि आवू्यह से एक अक्षर कप पहले उसकी पंक्ति और बाद में स्तम्भ संख्या 

द्वारा दशााया जा सकता है उदाहरण के कलए K कप 41, 34 द्वारा दशााया जा 

सकता है Z कप 75, 86   द्वारा दशााया जा सकता है इसी तरह से आपकप प्रश्न 

में कदए   शव्द “PAWN” के  कलए समूह  कप  पहचाििा  है I 

 
SSCCGL201721AUG-S2 : 25 

(a) 44,10,87,55  (b) 99,23,77,59 

(c) 03,40,86,65  (d) 31,31,59,66 

 
(33) A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its columns ’K' can be 

represented by 01,34, etc. and 'P' can be represented by 65,99 

etc. Similarly, you have to identify the set for the word ‘’BLAND’’. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है।आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है 

और आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से 

एक अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'K' कप 01,34, आकद द्वारा दशााया जा सकता है। 
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'P' कप 65,99 आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप प्रश् ि में 

कदए गए शब् द  'BLAND' के कलए समूह कप पहचाििा है। 

 
SSCCGL201705AUG-S1 : 25 

(a) 10, 14 , 00, 68, 79 (b) 31, 41, 33, 96, 86 

(c) 44, 20, 42, 88, 59 (d) 23, 32, 24, 55, 66 

 

(34) A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its columns ’C' can be 

represented by 10,34, etc. and 'D' can be represented by 85,98, 

etc. identify the set for the word ' STEAL ' 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख् या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है। आवू्यह -I के स्तम्भ  एवं पंक्ति की संख् या 0 से 4 तक दी गई है 

और आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से 

एक अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'C' कप 10,34, आकद द्वारा दशााया जा सकता है। 

'D' कप 85,98, आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप प्रश् ि में 

कदए गए शब् द  'STEAL' के कलए समूह कप पहचाििा है। 

 
SSCCGL201708AUG-S1 : 25 

(a) 01, 13, 04, 76, 66  (b) 14, 31, 40, 95, 59 

(c) 22, 42, 21, 69, 97  (d) 43, 24, 33, 57, 58 

 

(35) A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as in 

two matrixes given below. The column and rows of matrix I are 

numbered from 0 to 4 and the column and rows of matrix II are 

numbered from 5 to 9. A letter from these matrixes can be 

represented first by its row and next by its column.'K' can be 

represented by 42, 33,etc. and 'Z' can be represented by 56, 

67,etc. identify the set for the word 'NOTE'. 

एक शब्द  केवल एक संख्या  समूह द्वारा दशााया गया है, जैसा कक 

किम्न  कवकल्प ं में से ककसी एक में कदया गया है। कवकल्प ं में कदए गए संख्या-

समूह, अक्षरप ंके दप वगों द्वारा दशााए गए हैं जैसा कक िीचे कदए गए दप आवू्यहप ं

में है। आवू्यह -I के स्तम्भ  एवं पंक्ति की संख्या 0 से 4 तक दी गई है और 

आवू्यह -II के स्तम्भ  तथा पंक्तियप ंकप 5 से 9 तक। इि आवू्यहप ंमें से एक 

अक्षर कप पहले उिकी पंक्ति और बाद में स्तम्भ  संख्या  द्वारा दशााया जा 

सकता है। उदाहरण के कलए 'K' कप 42, 33, आकद द्वारा दशााया जा सकता है। 

'Z' कप 56, 67, आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप प्रश्न में 

कदए  शब्द  'NOTE' के कलए समूह कप पहचाििा है। 

 
SSCCGL201723AUG-S3 : 25 

(a) 04,30, 85,66  (b) 20,40,75,69 

(c) 40,21,69,55  (d) 99,78,75,22 

 

(36) A word is represented by only one set of numbers as given 

in any one of the alternatives. The set of numbers given in the 

alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The columns and rows of 

Matrix-I are numbered from 0 to 4 and that of Matrix-II are 

numbered from 5 to 9. A letter of these matrices can be 

represented first by its row and second by its column. For 

example ‘K’ can be represented by 30,41 etc. And ‘Z’ can be 

represented by 77, 68 etc. Similarly, you have to identify the set 

for the word “NEST”. 

एक शव्द केवल एक संख्या समूह द्वारा दशााया गया है ,जैसा की कवकल्प ंमें से 

ककसी एक में कदया गया है कवकल्प ंमें कदए गए संख्या समूह अक्षरप ंके दप वगों 

द्वारा दशााये गए है, जैसा की िीचे कदए गए दप आवू्यह में है| आवू्यह I के स्तम्भ 

और पंक्ति की संख्या 0 से 4 में दी गयी है और आवू्यह II की 5 से 9 में दी गयी 

हैI इि आवू्यह से एक अक्षर कप पहले उसकी पंक्ति और बाद में स्तम्भ संख्या 

द्वारा दशााया जा सकता है उदाहरण के कलए K कप 30,41 द्वारा दशााया जा 

सकता है Z कप 77,68 द्वारा दशााया जा सकता है इसी तरह से आपकप प्रश्न में 

कदए शव्द “NEST” के कलए समूह कप पहचाििा है I 

 
SSCCGL201720AUG-S2 : 25 

(a) 67,12,75,78  (b) 12,14,58,75 

(c) 44,41,55,78  (d) 44,31,79,76 

 

(37) A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The columns and rows of 

Matrix-I are numbered from 0 to 4 and that of Matrix-II are 

numbered from 5 to 9. A letter from these matrices can be 

represented first by its row and next by its column, for example 

'K' can be represented by 41, 34 etc and 'Z' can be represented 

by 66, 57 etc. Similarly, you have to identify the set for the word 

'OPAL'. 

एक शब्द कप कदए गए कवकल्प ंमें से ककसी एक संख्या समूह द्वारा दशााया 

जाता है। कवकल्प ंमें दी गई संख्याओ ंके समूह कप अक्षरप ंके दप वगों द्वारा 

दशााया जाता है, जैसा कक िीचे कदए गए दप आवू्यह में दशााया गया है। आवू्यह I 

के स्तम्भ और पंक्ति की संख्या 0 से 4 तक दी गई है और आवू्यह II के 5 से 9 

तक, इि अवू्यहप ंसे एक अक्षर कप पहले उसकी पंक्ति और बाद में स्तम्भ 

संख्या द्वारा दशााया जा सकता है। उदहारण के कलए 'K' कप 41, 34 आकद 
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द्वारा दशााया जा सकता है तथा 'Z' कप 66, 57 आकद द्वारा दशााया जा सकता 

है। इसी तरह से आपकप कदए शब्द 'OPAL' के कलए समूह कप पहचाििा है। 

 
SSCCGL201722AUG-S3 : 25 

(a) 34,33,5 5,59  (b) 14,44,69,66 

(c) 56,76,20,21  (d) 01,40,76,89 

 

(38) A word is represented by only one set of numbers as given 

in any one of the alternatives. The set of numbers given in the 

alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The columns and rows of 

Matrix-I are numbered from 0 to 4 and that of Matrix-II are 

numbered from 5 to 9. A letter of these matrices can be 

represented first by its row and second by its column. For 

example ‘K’ can be represented by 22,43 etc. And ‘Z’ can be 

represented by 65,77 etc. Similarly, you have to identify the set 

for the word “CUBE”. 

एक शव्द केवल एक संख्या समूह द्वारा दशााया गया है ,जैसा की कवकल्प ंमें से 

ककसी एक में कदया गया है कवकल्प ंमें कदए गए संख्या समूह अक्षरप ं के दप वगों 

द्वारा दशााये गए है, जैसा की िीचे कदए गए दप  आवू्यह में है| आवू्यह I के स्तम्भ 

और पंक्ति की संख्या 0 से 4 में दी गयी है और आवू्यह II की 5 से 9 में दी गयी 

हैI इि आवू्यह से एक अक्षर कप पहले उसकी पंक्ति और बाद में स्तम्भ संख्या 

द्वारा दशााया जा सकता है उदाहरण के कलए K कप 22, 43 द्वारा दशााया जा 

सकता है Z कप 65,77  द्वारा दशााया जा सकता है इसी तरह से आपकप प्रश्न में 

कदए   शव्द “CUBE” के  कलए समूह  कप  पहचाििा  है I 

 
SSCCGL201723AUG-S1 : 25 

(a) 23,12,4 4,77  (b) 22,76,03,04 

(c) 11,34,20,10  (d) 40,95,11,02 

 

(39) A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The columns and rows of 

Matrix-I are numbered from 0 to 4 and that of Matrix-II are 

numbered from 5 to 9. A letter from these matrices can be 

represented first by its row and next by its column, for example 

'K' can be represented by 43, 04 etc and 'Z' can be represented 

by 75, 66 etc. Similarly, you have to identify the set for the word 

'VERY'.  

 

किम्नकलक्तखत प्रश्न में कवकल्प ंमें कदए गए संख्या-समूह, अक्षरप ंके दप वगों द्वारा 

दशााए गए हैं, जैसे कक िीचे गए दप आवु्यहप ंमें हैं।आवू्यह I के स्तम्भ और पंक्ति 

की संख्या 0 से 4 तक दी गई है और आवू्यह II के 5 से 9 तक, इि अवू्यहप ंसे 

एक अक्षर कप पहले उसकी पंक्ति और बाद में स्तम्भ संख्या द्वारा दशााया जा 

सकता है। उदहारण के कलए 'K' कप 43, 04 आकद द्वारा दशााया जा सकता है 

तथा 'Z' कप 75, 66 आकद द्वारा दशााया जा सकता है। इसी तरह से आपकप 

कदए शब्द 'VERY' के कलए समूह कप पहचाििा है।  

  

 
SSCCGL201722AUG-S1 : 25 

(a) 01,43,21,78  (b) 31,24,11,87 

(c) 11,20,66,85  (d) 88,56,43,20 

 

(40) A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The columns and rows of 

Matrix-I are numbered from 0 to 4 and that of Matrix-II are 

numbered from 5 to 9. A letter from these matrices can be 

represented first by its row and next by its column, for example 

'K' can be represented by 41, 34 etc and 'Z' can be represented 

by 66, 57 etc. Similarly, you have to identify the set for the word 

'PINK'.  

 

एक शब्द कप कदए गए कवकल्प ंमें से ककसी एक संख्या समूह द्वारा दशााया 

जाता है। कवकल्प ंमें दी गई संख्याओ ंके समूह कप अक्षरप ंके दप वगों द्वारा 

दशााया जाता है, जैसा कक िीचे कदए गए दप आवू्यह में दशााया गया है। आवू्यह I 

के स्तम्भ और पंक्ति की संख्या 0 से 4 तक दी गई है और आवू्यह II के 5 से 9 

तक दी गई है, इि अवू्यहप ंसे एक अक्षर कप पहले उसकी पंक्ति और बाद में 

स्तम्भ संख्या द्वारा दशााया जा सकता है। उदाहरण के कलए 'K' कप 41, 34 

आकद द्वारा दशााया जा सकता है तथा 'Z' कप 66, 57 आकद द्वारा दशााया जा 

सकता है। इसी तरह से आपकप कदए शब्द 'PINK' के कलए समूह कप 

पहचाििा है।  

 

 
SSCCGL201723AUG-S2 : 25 

(a) 43,03,78,88  (b) 59,33,86,14 

(c) 00,11,79,98  (d) 11,14,85,76 

 

(41) A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given in the 

alternatives are represented by two classes of alphabets as 

shown in the given two matrices. The cloums and rows of Matrix-

I are numbered from 0 to 4 and that of Matrix-II are numbered 

from 5 to 9. A letter from these matrices can be represented first 

by its row and next by its column, for example, ‘K’ can be 

represented by 10, 22, etc., and ‘Z’ can be represented by 85, 58, 

etc. Similarly, you have to identify the set for the word “ PERK”. 

किम्नकलक्तखत प्रश्न में एक शब्द कप कदए एक संख्या समूह के द्वारा दशााया जाता 

है, जप कदए गए कवकल्प ंमें से एक है। कवकल्प ंमें कदए गए संख्याओ ंके समूह 
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कप अक्षरप ंके दप वगों द्वारा, िीचे कदए गए आवू्यह के रूप में दशााया जाता है। 

आवू्यह I की स्तम्भ और पंक्तियां 0 से 4 के रूप में और ऐसे ही आवू्यह II कप 

5 कप 9 के रूप में संख्यांककत की गई हैं। इि आवु्यहप ंसे एक अक्षर कप पहले 

इसकी पंक्ति और बाद में इसके स्तम्भ द्वारा दशााया जा सकता है। उदाहरण 

के कलए, ‘K’ कप 10, 22, आकद द्वारा दशााया जा सकता है और ‘Z’ कप 85, 58, 

आकद द्वारा दशााया जा सकता है। इसी आिार पर “ PERK” शब्द के कलए 

संख्या समूह का चयि कीकजए।  

 
SSCCGL201720AUG-S3 : 25 

(a) 13,02,6 6,68  (b) 95,41,57,22 

(c) 32,02,87,56  (d) 30,04,75,96 
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Answer Key 

1 A 2 D 3 A 4 D 5 A 

6 A 7 C 8 C 9 D 10 B 

11 D 12 D 13 D 14 A 15 A 

16 C 17 D 18 C 19 D 20 B 

21 A 22 D 23 B 24 B 25 A 

26 A 27 D 28 C 29 B 30 A 

31 B 32 B 33 D 34 B 35 D 

36 A 37 C 38 D 39 C 40 B 

41 B         

 

 

 

 

http://www.onlinesetpractice.com/
http://www.onlinesetpractice.com/
http://www.onlinesetpractice.com/
http://www.onlinesetpractice.com/
http://www.onlinesetpractice.com/

